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Serie Z1 - Gréssen
5.5047 kg
30ml<0.31<3.2dl<33¢cl<0.03hl
40cm><400ml<4dm®<401<04 m®
777.77 m
500 m? < 0.005 km? < 5 ha < 5000 a
6d2h45min5s
90 m® 90'000 |
0.09hl 9dm?

90 cm® 9cl
9ml 9000 mm® —iibrig bleibt: 9 dl

5.4.0.045=0.9m°> =9001

Eingetauchtes Volumen: 5-3-3-3.0.9=121.5¢cm°®

Anstieg: 121.5 cm® : (20-20) cm? = 0.30375 cm
Der Wasserspiegel steigt um ca. 3 mm.

250:0.7-330=117'857.1429 ml|
Man miisste 118 | davon trinken.

100:1.5-760 =50'666 cm® — 50'666 ml — 50.6 |
Gerundet etwa 51 |

a) 5-10-10-10-21.45=107'250
107.25 kg
b) 107'250:31.1-1400-0.96 = 4'634'855 [CHF]



